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BAIE | IS8 | WANR | HIRE | BIEA (W) | AR | FIRE

W) W) W) (W) T (W) (W) (W)
RAS-224FSLYNQB | 22400 5900 11200 2100 7168 1194 25000 5400 12500
RAS-252FSLYNQB | 25200 6700 12600 2400 8060 1440 27000 6500 13500
RAS-280FSLYNQB | 28000 7200 14000 2600 8960 1608 31500 7350 15750

RAS-335FSLYNQB | 33500 9200 16750 3500 10720 2280 37500 9600 18750

RAS-400FSLYNQB | 40000 11400 20000 3700 12800 2400 45000 11100 22500

RAS-450FSLYNQB | 45000 13200 22500 4100 14400 2628 50000 12300 25000

RAS-504FSLYNQB | 50400 14800 25200 4700 16128 2973 56500 14100 28250

EEE) | SR | BTER [ RIEHIE | @RI | SR | RRE

HFAER | HIRE | fREA [ BW) | BAIER | (W) (A
(w) W) | 1= (W) (W)
RAS-224FSLYNQB | 2200 8000 1485 19500 8500 4 25 25 1790*950*750
RAS-252FSLYNQB | 2510 8640 1670 18900 8590 4 32 32 1790*950*750
RAS-280FSLYNQB | 3000 10080 1947 22000 | 10500 4 32 32 1790*950*750
RAS-335FSLYNQB | 3900 12000 2514 24500 | 11000 4 32 32 1790*950*750
RAS-400FSLYNQB | 4200 14400 2742 31800 | 14000 4 40 40 1790*1210*750
RAS-450FSLYNQB | 4600 16000 2971 33000 | 14500 4 40 40 1790*1210*750
RAS-504FSLYNQB | 5100 18080 3547 36800 | 15500 4 40 40 1790*1210*750
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RCI-18FSKZNQ | M1 0 RCI-28FSKZNQ | 9 0
RAS~ PLVO) eci—2srs 1 0 V) e Ci-s0FskzNG | 3 0
224FSLYNQB RCI-28FSKZNQ RAS- CI-50FSKZNQ
APF | RCI-56FSKZNQ | 4 0 400FSLYNQB APF RCI-63FSKZNQ | 4 0
RCI-18FSKZNQ = 8 0 RCI-80FSKZNQ | 2 0
RAS~ V) e Ci28Fskang | 4 0 RCI-28FSKZN 6 0
252FSLYNQB Q IPLV(C) CI=28FS Q
APF | RCI-63FSKZNQ | 4 0 RAS- RCI-50FSKZNQ | 6 0
RCI-18FSKZNQ | 5 0 450FSLYNQB RCI-63FSKZNQ | 2 0
IPLV(C) APF
RAS— RCI-28FSKZNQ | 7 0 RCI-80FSKZNQ | 4 0
280FSLYNQB RCI-63FSKZNQ | 2 0 RCI-28FSKZNQ | 4 0
AP RCI-80FSKZN 2 0 RAS- IPLV(C)
Q 504FSLYNQB RCI-50FSKZNQ | 8 0
RAS— IPLV(C) | RCI-28FSKZNQ | 12 0 APF | RCI-63FSKZNQ | 8 0
335FSLYNQB | APF | RCI-56FSKZNQ | 6 0
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